efficiency efficiency efficiency

efficiency

1 | 90040090000°00000900000000900000000000000000900000000000400
09
0.8
0.7 —
0.6 =
05 wheel -2 chamber 2 sector 9 sl 3 layer 4 I
' 10 20 5()-4050c§9
1 lgie ‘w.ﬂ“iuuf“ﬂm“imiomoim‘foiﬂﬂoem‘
09—
0.8
0.7 —
0.6 =
05 wheel -2 chamber 2 sector 9 sl 3 layer 3 I
' 10 20 30 40 50 &0
1§m‘ e S A d g E A Z A d A dd 22 2 a2 T 2 A g d A g 1 a2 2 d S a2 A R s 2 22 222 o
0.9
0.8
0.7
0.6 =
wheel -2 chamber 2 sector 9 sl 3 layer 2 I
10 0 cio) 40 50 60

0.9
0.8
0.7
0.6

L J

0.5

wheel -2 chamber 2 sector 9 sl 3 layer 1

10 4] dUIIII4IOIIII5I0IIIIc§p



